Common Pre-Board Examination Chandigarh Region (2020 - 21)
Class : XII
Subject: Computer Science (083)
Time Allowed: 3 Hrs                     					Maximum Marks: 70

Instructions:
1. This question paper contains two parts A and B. Each part is compulsory. 
2. Both Part A and Part B have choices. 
3. Part-A has 2 sections: 
a. Section – I is short answer questions, to be answered in one word or one line. 
b. Section – II has two case studies questions. Each case study has 4 case-based sub-parts. An examinee is to attempt any 4 out of the 5 subparts. 
4. Part - B is Descriptive Paper. 
5. Part- B has three sections 
a. Section-I is short answer questions of 2 marks each in which two question have internal options. 
b. Section-II is long answer questions of 3 marks each in which two questions have internal options. 
c. Section-III is very long answer questions of 5 marks each in which one question has internal option. 
6. All programming questions are to be answered using Python Language only 

	Q.No.
	Part-A 
	Marks

	
	Section -1
Select the most appropriate option out of the options given for each question. Attempt any 15 questions from question no 1 to 21
	

	1
	Which operator has the highest Priority / Precedence
a) **      b) >    c) not   d)  %
	1

	2
	Write a Python statement to declare a dictionary whose keys are UP, MP,AP and values are Lucknow, Bhopal, Hyderabad respectively
	1

	3
	Which of the following is not a DDL command?
(a) ALTER (b) CREATE (c) DROP TABLE (d) SELECT
	1

	4
	A table Student contains a column Gender. Write Domain for Gender column?
	1

	5
	Given String S=“EXAM2021” what will be the output of 
print( S[: : -2] )
print(S[-4 : :])
	1

	6
	What will be the output of following print statements:-
print(-7//2)
print(3**2**3)
	1

	7
	Which protocol is used to Upload / Download a file?
	1

	8
	Given List data=[10,20,30] write the output of  print(data*2)
	1

	9
	Fill in the blank:-
 _________ function is used to write data in binary file.
	1

	10
	Write one application of Stack.
	1

	11
	Which clause restricts the group in the output of SELECT query?
	1

	12
	Rearrange the following communication medium in increasing order of data transfer rates. 
Coaxial Cable, Fiber Optic Cable, Twisted Pair Cable 
	1

	13
	Can a function return multiple values.if yes then how?
	1

	14
	Identify Topology:
a ) A central hub/switch required to connect all computers with each other and no collision take place through transmission of data.
b) A long cable known as backbone is used to connect all computer with each other and data is sent through this long cable from the sender to receiver and chance of collision take place through data transmission.
	1

	15
	State True / False.
A table can have more than one foreign key and can store duplicate values.
	1

	16
	Read Python code carefully and identify which line(s) will raise an error:-
A,B,C=10, “Hi”, 7.5
print(A*C)  #Line-1
print(A+C) #Line-2
print(B*A)  #Line-3
print(B+A)  #Line-4
	1

	17
	Rohan is using someone else’s twitter handle to post something,which type of cyber crime is this?
	1

	18
	Which of the table constraint can restrict the entry of NULL value in a column of table?
	1



	19
	Stealing someone else’s intellectual work and representing it as own is called________________________
	1

	20
	Which command is delete a column from table?
	1

	21
	Which is TRUE statement?
a) Strings , List, Tuple are Immutable, Immutable , Mutable data-types respectively
b) Strings , List, Tuple are Mutable, Mutable , Mutable data-types respectively
c) Strings , List, Tuple are Immutable, Mutable , Immutable data-types respectively
d) Strings , List, Tuple are  Immutable , Mutable, Mutable data-types respectively
	1

	
	Section-II
Both the Case study based questions are compulsory. Attempt any 4 sub parts from each question. Each question carries 1 mark
	

	22
	The following table Patient stores the details of patients of a hospital. Observe table carefully and answers the questions given below:-
PATIENT
	PID
	NAME
	AGE
	DEPARTMENT
	CHARGES
	SEX

	1
	ARPIT
	62
	SURGERY
	1000
	M

	2
	ZARINA
	22
	ORTHO
	500
	F

	3
	KAEENA
	32
	CARDIOLOGY
	NULL
	F

	4
	ARUN
	12
	ENT
	800
	M

	5
	AMAR
	30
	SURGERY
	1200
	M

	6
	ZEBA
	16
	CARDIOLOGY
	400
	F

	7
	KARAN
	29
	SURGERY
	NULL
	M

	8
	ANNU
	45
	ENT
	2000
	F


.
	

	(i)
	What is the cardinality and degree of Patient Table?
	1

	(ii)
	Write the sql command to show the following patient names in output :- 
ZARINA , KAREENA , ZEBA

	1

	(iii)
	Write the sql command to show the  details of Surgery and Ortho Departments

	1

	(iv)
	  Ram has given wrong command to get cheapest charges for each department of Patient table but could not get desired Result.  Help him to correct this command: -  	
SELECT MAX(CHARGES) FROM PATIENT WHERE GROUP BY DEPARTMENT;   
	1

	(v)
	What will be the output of following command-
SELECT NAME , CHARGES*AGE FROM PATIENT WHERE CHARGES IS NOT NULL AND DEPARTMENT='CARDIOLOGY';
	1

	23
	Sakshi student of class 12 is writing a program to create a CSV file “employee.csv” which will contain employee-code, employee-name and Salary for some entries. She has written the following code. As a programmer, help her to successfully execute the given task 

import _____________               #line-1
#Function to add / write single Employee records 
def addemployee(record):
    file1=open(‘employee.csv','a')
    csvobj=csv.__________(file1)    #line-2
    csvobj.writerow(record)    
    file1.close()
#Function to read employee records
def reademployee():
    file1=open('employee.csv','___’)  #line-3
    csvobj=csv._______(file1)         #line-4
    for rec in csvobj:
        if int(rec[2])>15000:
            print(rec)
    file1.close()
#main-coding
rec1=[101,'ram',10000]
rec2=[102,'sham',20000]
rec3=[103,'sita',15000]
addemployee(rec1)
addemployee(rec2)
addemployee(rec3)
reademployee()            #line-5
	

	(i)
	Name the module he should import in Line 1. 

	1

	(ii)
	Fill in the blank in Line 2 to create CSV object for writing. 
	1

	(iii)
	Fill in the blank in Line 3 with file open mode for reading data from CSV file
	1

	(iv)
	Fill in the blank in Line 4 to read data from CSV file.
	1

	(v)
	Write the output Sakshi will obtain while executing line 5
	1

	
	Part-B Section -1
	

	24
	Briefly explain any two advantages of using functions?
OR
A list name L contains following data 10,20,30,40,50. What following statements will produce:
print(L[∷-1])
print(L.pop())
	2

	25
	How Having clause is different from Where clause in SQL?
	2

	26
	Write two differences between Bridge and Router?
Or
Briefly Explain Phishing and Trojan Horse?
	2

	27
	Write full forms:-  a) WLL    b) Wi-Fi  c) POP3  d) IPR
	2

	28
	Difference between Primary Key and Unique Constraints
	2

	29
	Rewrite following program after removing all errors. (underline each correction)
name=input(“Enter name’)
mob=int(input(“Enter mobile no”))
if name=”Ram”:
    print(“Mobile number “,mob)
elseif mob>9999999999:
    print(“Wrong Mobile Number “)
else
    print(“Correct Mobile number “, Mob)
	2

	30
	a) Sita has given following MySQL command to remove details of students who has not paid the fees. But it is showing some error. Help Sita to correct it.
DELETE * FROM STUDENT WHERE FEES=NULL;

b) Raj has given following command  to show details of employee who are either working in Department no. 10 or having name starts with letter M.  But it is showing error. Help Raj to correct it.
SELECT  * FROM EMPLOYEE WHERE DEPTNO=10 AND NAME =’A%’;
	2

	31
	Convert following for loop into while loop without effecting its output.
Print(“Welcome”)
for k in range(-5,-20,-5):
    print(k)
print(“Good Bye”)
	2

	32
	Find output of following Python Code:
def changestr(n):
    newstr=’’
    for i in range(len(n)):
        if n[i].isupper():
            newstr+=n[i-1]
        elif n[i].islower():
            newstr+=n[i+1]
        else:
            newstr+=’#’
    print(newstr)

#main-code
string=’PyThoN$’
changestr(string)

	2

	33
	Based on the following Python code, find out the expected correct output(s) from the options (i) to (iv).  
Also, find out the minimum and the maximum value that can be assigned to the variable Trick used in the code at the time when value of Count is: 3.
Import random  as rd
status=[“EXCEL”, “GOOD”, “OK”]
turn=10
for count in range(1,4):
    trick=rd.randrange(count)
    print(turn-trick,status[trick],end=”#”)
Options:-
(i) 10EXCEL# 10EXCEL# 8OK#                 (ii) 10EXCEL# 8OK# 9GOOD#
(iii) 10EXCEL# 9GOOD# 10EXCEL#        (iv) 10EXCEL# 10GOOD# 8OK
	2

	
	Section-II
	

	34
	Write a function ShiftHalf(Arr) in Python, which accepts a list Arr of numbers and replace first half of  List elements with other Half.  (Arr Size is Even no.)
Sample Input Data of the list  Arr= [ 10,20,30,40,50,60]   
Output Should List be     Arr = [40,50,60,10,20,30] 
	3

	35
	Write a function in Python that print and counts the number of words start with letter ‘M’ or ‘m’ present in a text file “STORY.TXT”. 
OR
Write a function in Python that print and counts the number of lines start with letter ‘A’ or ‘a’ present in a text file “CONTENT.TXT”. 
	3

	36
	Write MySQL output for (i) to (iii) on Customer and  Bank tables
CUSTOMER
	ACCOUNTNO
	CNAME
	AGE
	GENDER
	BALANCE
	ACCOUNTCODE

	101
	S K YADAV
	62
	M
	80000
	7777

	102
	VIBA MISHRA
	22
	F
	90000
	9999

	103
	DIDAR SINGH
	32
	M
	75000
	7777

	104
	M SHARMA
	12
	M
	79000
	NULL

	105
	SIMI ARORA
	30
	F
	97000
	8888

	106
	DAYAL SONI
	16
	M
	68000
	9999


BANK
	ACCOUNTCODE
	ACCOUNTTYPE
	INTERESTRATE
	MINBALANCE

	7777
	SAVING
	7.5
	1000

	8888
	LOAN
	12.5
	NULL

	9999
	CURRENT
	4.8
	5000



(i) SELECT GENDER, COUNT(*) FROM CUTOMER GROUP BY GENDER;
(ii) SELECT CNAME, MINBALANCE FROM CUSTOMER C, BANK B WHERE C.ACCOUNTCODE =B.ACCOUNTCODE AND BALANCE>75000 AND GENDER=’M';
(iii) SELECT ACCOUNTTYPE, BALANCE FROM CUSTOMER C, BANK B WHERE C.ACCOUNTCODE =B.ACCOUNTCODE 
AND CNAME LIKE ‘%N%’;
	3

	37
	Write a function in Python Pop(Student) to implement Pop operation of stack where Student is a List containing details of students as given below:  StudentRollno, StudentName, StudentMarks.
OR
Write a function in Python Insert(Client) to implement insert operation of Queue where Client is a List containing details of customers as given below:  CustomerID, CustomerName 
	3



	
	Section-III
	

	38
	In a database  Real_Estate , two tables are given below:-
Developer
	Dcode 
	Dname 

	1 
	Rahul 

	2 
	Manish 

	3 
	Faizan 


HOUSE
	HID 
	Location 
	Quantity 
	Unit _Price 
	Dcode 

	H1 
	Raipur 
	10 
	500000 
	1 

	H2 
	Bilaspur 
	20 
	300000 
	2 

	H3 
	Bargarh 
	15 
	200000 
	3 

	H4 
	Ambikapur 
	25 
	250000 
	2 

	H5 
	Raipur 
	25 
	280000 
	2 

	H6 
	Bilaspur 
	20 
	240000 
	1 



Write queries for following questions based on above given tables:-
a) Show details of  Raipur Location houses whose unit price more than 300000
b) Show Location , GrossAmount of Houses whose Dcode is 2.   
    (GrossAmount =Quanity * Unit_Price)	 	 
c)  Show HID, Location of all houses in Descending Order of Unit Price.
d)  Show Average Unit Price of each location.	 	 	                                      
e) To show location and corresponding dname whose unit_price is more than  
    250000
	5

	39
	A binary file FLIGHT.DAT has structure [FlightCode, Source, Destination, Rent]
 Write a function SearchFlight(Destination) which accept Destination as parameter to print and count number of flights from FLIGHT.DAT whose Destination is given as parameter.
OR
A binary file STUDENT.DAT has structure [AdmissionNo, Name, Class, Result]
 Write a function DeleteRecord() which remove all student records from STUDENT.DAT whose Result is “Failed”.

	5



	 40
	Perfect Edu Services Ltd. is an educational organization. It is planning to setup its India campus at Chennai with its head office at Delhi. The Chennai campus has 4 main buildings – ADMIN, ENGINEERING, BUSINESS and MEDIA. 
[image: ]
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	Distances between various buildings :
	ADMIN to ENGINEERING
	135 m 

	ADMIN to BUSINESS
	75 m 

	ADMIN to MEDIA
	150 m 

	ENGINEERING to BUSINESS
	55 m 

	ENGINEERING to MEDIA
	110 m 

	BUSINESS to MEDIA
	45 m 

	Delhi Head office to Chennai Campus
	2175 km 





Number of Computers in Each Block

	ADMIN 
	110 

	ENGINEERING 
	175 

	BUSINESS 
	140 

	MEDIA 
	120 

	DELHI Head Office 
	110



a) Suggest the most appropriate location of the server inside the   CHENNAI campus (out of the 4 buildings), to get the best connectivity for maximum no. of computers. Justify your answer. 
b) Suggest and draw the cable layout to efficiently connect various buildings within the CHENNAI campus for connecting the computers.			

	
c) Which hardware device will you suggest to be procured by the company to be installed to protect and control the internet uses within the campus ?			
d) Which is the communication medium you will suggest to connect Chennai campus with Delhi Head Office  
e) Where will you install   Hub / Switch  

	5
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